88

BIFE / Product Number

AUPE -

HF %

H dimension

Wtk

B 1E#% / Feet specification

W dimension

BR/A
Feet (R or A)

D~Fi%

D dimension

" I
W7 =h)LT—24 / Technical Datall AN / Components
No. 2 / Part name #= / Pcs #ME / Material & - RMEMIE / Color:Finish
#iffhILY / Recommended torque 1 a—F—Javs . FILSH A F v Rk ADC12 VILR—, TSuy R (REENIE)
M25 : 0.15N*m ~ 0.2N*m Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
B4R T IV H# A6063S-T5 LN —- R EE (NEREEALIE)
M3.M4 : 0.3N"m ~ 0.6N-m 2 Frame 2 Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
5 IL—L 4 T IV H# A6063S-T5 DIN—- B (REMRILE)
Panel support frame Extruded aluminium A6063S-T5 | Silver-Painted (Unfinished inside)
. ISR ) 7 L3R A1100P DIILN—-FE (ZEBRELE)
Panel Aluminium A1100P Silver-Painted (Conductive inside)
5 HN— 1 F7IL2HR A1100P DIVN— R (EEEBELE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 ThiN— ! 7 ILEHR A1100P DVIVN—-ZE (REEENE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
JLE TPE (TZ3AK) T3vH
7 Rubber feet 4 TPE (Elastomer) Black
FILZE T &YYarI L DILIS—TILIA & TS59Y
Aluminium feet Aluminium & Silicone Silver-Anodized & Black
o EMCL—ILREH R vk 16 BEMMH (UL4V-0) ARy TL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 B{TE R (ILM3 x 8) 16 &% T LAY
Screw (Flat head M3 — 8) Steel Nickel plated
10 HB{FER (M3 x 5) i &% =LAy
Screw (Trapezoid head M3 - 5) Steel Nickel plated
» BRfFER (/S 1FM4 x 8) 4 % ZRIaA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
1 BFTER GETFRHLEFAM25 x 7) g &% =TIV AYE
Screw (Captive pan head M2.5 — 7) Steel Nickel plated

EX P /H)
Screw (P or H)

@30 10

@30 12

B itHx

Color Type

EHE A4E4% / Original trapezoid head screw specification

IE OJ.L2 / Rubber feet

7 ILZZE / Aluminium feet

1t ¥5k / Color Type

[P] 75 / Phillips

7N / Hexagon-socket

i85 / Code a—4—7J w4 / Corner block {8l#R / Frame JNZRJL / Panel $1/8— / Top cover | T//\— / Bottom cover
SS < JLsN— / Silver < JLiN— / Silver | 2 JLsN— / Silver 2 JLsS— / Silver < JLsN— / Silver
S B 75v% / Black 2 )LiS— / Silver | T JLsN— / Silver | )LsN— / Silver 2 )L1S— / Silver

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title

INFRILEREMCY — LR —X
EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

o]

7 5%/ Approved t&X]/Checked

iR ES

#I[X/Created

wF

FIE /Product number

AUPE88-16-430101-0101

RIE/Scale

R—T/Page

YERZ B /Date 2023/11/16

177

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

B-B(1:5)

113

383

E view

A view

0.3

8 +

F view

<« Y

160 £0.5

1.5

A-A(1:5) C-C(1:5)
© M il —
© [ee]
416 153
C view 430 408 B view
%/ Title
TAKACHI] BXRHMANTFEHITE SRR IVEBEMCS — LR S —2 O[]
TAKACHI ELECTRONICS ENCLOSURE CO, LTD. | EMC SHIELDED ENCLOSURE with DETACHABLE PANELS —
75/ Approved & X|/Checked [ /Created 4 F/Product number RE/Scale
1:5
iR x ®T AUPE88-16-43010-010 o
YERCH/Date 2023/11/24 2 /1

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

380

87

14
ST

B

R / Front side

D {8I#% / D Frame

2-M3RH 3R
2-M3 Countersunk
¥ RXTEEHFEFE / Same on the other side.

225
[ap)
==
™
[ap)
™~
B
25
@
)
)
[ap)
N
S
5
fereo]
]
ol
S

XM / Front side

Z M / Back side

% / Back side

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
GRS

Frame

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:3
iR £ wF ~R—/Page
H88 — D430 YERLH/Date 2023/11/217 3 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

225

86

-

2-M2.5

110

2-M3AHY IR
2-M3 Countersunk

14

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
IL—Ls

Panel support frame

o]

7 &8/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1.5:1
iR E: w4t —
W160 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\N2R)L / A Panel

109.5 35 2 86
e\ ) ™ I:' 1) Y
7 A\ o 14 (¢
.H
©
q:
o
£
1o - 10
~ é REES—MA ©
- Surface protective film side
#H
I
R
N\ ) T I: M a
X7 A\ 1 hd h 4
A TiE / Max dim. 102 £ 0.5 \
4-M25FAZ LX) —T
4—Metal sleeve for M2.5
R / Front side Z M / Back side
B /A2 )L / B Panel
I3 7N I:' M M
A4 A\ w w
RE—MA
Surface protective film side
N N I: Py n
!\VJ sg! 1 A4 A\
M@ / Front side ZEM / Back side
fnd/Title
TAKACHI| #REH4hTFEHTE S O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 B/ Approved t&X]/Checked #1[X]/Created R F /Product number RE/Scale
1:15
iR =3 wF R— /Page
H88 — W160 {ERL B /Date 2023/12/20 5 /1
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7
130 6-04.5 2
O 9]

o

o

+H

™»

(o]

™

< £
: o =
=) = o O >
-
~

#H

+

ﬁ

RE—HMA
Surface protective film side
o o

ATi% / Max dim. 113 £ 0.5

XM / Front side

% & / Back side

v/

~
A\

~
A\

o)
4

md/Title
BRASHINFEHIE H18— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
778/ Approved 1%/ Checked #U[X]/Created 4 F/Product number Rg/f;ale
2.5
PR =3 BF R—/Page
W160 — D430 {ER B /Date 2023/12/13 6 / 7

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4194

149.4

130
Y
o
o
_H
™
[ee]
%)
£
=] by o] O x O (6]
< ~ ©
© b=
\ -
#H RE—MAI
17‘ Surface protective film side
=
i
4-M4
AH%#hFi% / Max dim. 113+ 05
M / Front side 5/ / Back side
fnd/Title
TAKACHI] #R&HAHFEMRTE THsA— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
T - = RE/Scale
7 B/ Approved t&X]/Checked #1[X]/Created R F /Product number
1:25
AR =3 BF R—/Page
W160 - D430 {ERL B /Date 2023/12/14 771
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




